

v) $A_n \triangleleft S_n$ (Using (ii))

Indep 2.

vi) $H =$ subgroup of all rotations in D_n

$H \triangleleft D_n$ (Using (ii))

vii) $2\mathbb{Z} \triangleleft \mathbb{Z}$ (Using (i))

$m\mathbb{Z} \triangleleft \mathbb{Z}$ (Using (i))

viii) Trivial subgroup $\{e\}$ and improper $\sim G$ is normal in G .

Simple group :—

A group G is said to be simple group if G has no normal subgroup except the trivial and improper subgroups of G .

Ex:— Any group of prime order is simple.

Thm :— Let $H \leq G$.

$H \triangleleft G$ iff $h \in H, x \in G$

$\Rightarrow xhx^{-1} \in H$

OR $xHx^{-1} \subseteq H, \forall x \in G.$

\Rightarrow Let $H \triangleleft G$.

For $h \in H, x \in G,$

$xh \in xH = Hx$ [$\because H \triangleleft G$]

$\Rightarrow xh \in Hx$

$\Rightarrow xh = h_1x, h_1 \in H$

$$\Rightarrow xhx^{-1} = h_1 \in H$$

Conversely, let $xhx^{-1} \in H$

claim $xH \subseteq Hx$

Let $a \in xH$

$$\Rightarrow a = xh_2, h_2 \in H$$

$$= xh_2(x^{-1}x)$$

$$= (xh_2x^{-1})x \quad [\text{by Assoc}]$$

$$= h_3x \quad [\because xhx^{-1} \in H]$$

$$\therefore a \in Hx$$

claim $Hx \subseteq xH$ $xH \subseteq Hx$ — ①

Let $b \in Hx$

$$\Rightarrow b = h_4x, h_4 \in H$$

$$= (xx^{-1})h_4x$$

$$= x(x^{-1}h_4x)$$

$$= x(x^{-1}h_4(x^{-1})^{-1})$$

$$= xh_5$$

$$\therefore b \in xH$$

$$\therefore Hx \subseteq xH \quad \text{--- ②}$$

from ① & ②,

$$xH = Hx, \quad \forall x \in G.$$

$$\therefore H \triangleleft G.$$

Thm : —

The intersection of two normal subgroups of a group G is normal in G .

\Rightarrow Let H & K be two normal

subgroups of G .

subgroups of G .

Let $a \in H \cap K$, $x \in G$.

$a \in H$ & $a \in K$

$\therefore x a x^{-1} \in H$ [by prev. thm]
 $x a x^{-1} \in K$

$\therefore x a x^{-1} \in H \cap K, x \in G, a \in H \cap K$

$\therefore H \cap K \triangleleft G$.

Thm! \rightarrow

Let $H \leq G$ and $a \in G$. Then

$a H a^{-1} = \{ a h a^{-1} : h \in H \}$ is a subgroup
of G . $e \in a H a^{-1}$ (Nonempty)

$a h_1 a^{-1}, a h_2 a^{-1} \in a H a^{-1}$

$$(a h_1 a^{-1}) (a h_2 a^{-1})^{-1}$$

$$= a h_1 a^{-1} (a h_2^{-1} a^{-1})$$

$$= a h_1 (a^{-1} a) h_2^{-1} a^{-1}$$

$$= a h_1 h_2^{-1} a^{-1}$$

$$\in a H a^{-1} \quad [\because h_1 h_2^{-1} \in H]$$

Thm! \rightarrow

$H \triangleleft G$ iff $a H a^{-1} = H, \forall a \in G$.

~~H/N~~